215 | Transmission

5CYL TURBO, B5254T3

GR-382330

Fig.

Part No.

8670151
8670149
1275365
1275365
30646226

30646225

983641

30646228

Description
Camshaft, intake
Camshaft, exhaust
Sealing ring, intake
Sealing ring, exhaust

Pulley, intake
VVT unit

Pulley, exhaust
VVT unit

Six point socket screw
M12x68

Plug

Qty. PS




10
11

12

13

14

15

16
17

18

19

20

21

22

23
24

31251754
30650687
8692804

30757554

30750945
30750852
986009

987421

987421

985819

30731727

30731727

31251254

8627484

987498

987498

982800

988092

9458309
9458309
8692286
30731045
3531111

Timing gear casing, upper
Timing gear casing, rear

Belt protector, lower
ENG -3883573

Belt protector, lower
ENG 3883574-

Timing gear casing, front, upper
Timing gear casing, front, lower

Six point socket screw
M6x11.5

Flange screw
M7x25

Flange screw
M7x25

Flange screw
M8x30

Tooth belt kit
(CN)

Tooth belt kit
ENG -3887615, EXC (CN)

Tooth belt kit

ENG 3887616-, REPL 1 PCS 30731727, 1 PCS 987498, EXC

(CN)
Tooth belt

Belt tensioner
Idler roller
Sems screw

M8x53.5, (CN)

Sems screw

ENG -3887615, M8x53.5, EXC (CN)

Flange screw

ENG 3887616-, M8x50, EXC (CN)

Flange screw
M8x20

Sealing ring, intake
Sealing ring, exhaust
Pulley

Oscillation damper

Nut
M22

@

NS

NS



25

26

27
28

29
30
31
32
33
34
35
36

985374

986009

8699501
986214

998024

36002688
30640846
30612805
36002687
30640846
30612805
1397381
982778

Flange screw
M8x25

Six point socket screw
M6x11.5

Protection

Six point socket screw
ENG -3776610, M6x16

Six point socket screw
ENG 3776611-, M6x16

Solenoid, exchange, exhaust
O-ring, upper

Sealing ring, lower

Solenoid, exchange, intake
O-ring, upper

Sealing ring, lower

Cap

Flange screw
M7x30

EU

EU



